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1. (4 points) Rewrite the following expression using only positive exponents and simplify:
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Solution.
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2. (3 points) Simplify the following difference of polynomials using any method your choose:

(5q
2
− 3q + 5)− (4q

2
− 3q − 1).

Solution.

(5q
2
− 3q + 5)− (4q

2
− 3q − 1) = 5q

2
− 3q + 5− 4q

2 + 3q + 1.

Combining like terms, we get
q
2 + 6.

3. (3 points) Find the indicated product by any method you choose:

(x− 2)(2x
2 + 5x + 3).

Solution. Using the distirbutive law, we have

(x− 2)(2x
2 + 5x + 3) = 2x

3 + 5x
2 + 3x− 4x

2
− 10x− 6.

Combining like terms, we then get
2x

3 + x
2
− 7x− 6.


